Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam

Rifles Examination 2024

[Exam Date 20/02/2024
Exam Time 9:00 AM - 10:00 AM
Subject [Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1

Ans

1. 43251
2. 43215
3. 13245
4. 13254

Q.2

Ans

Eight boys B1, B2, B3, B4, B5, B6, B7 and B8 are sitting in a row facing towards the north (not necessarily in the same
order). B6 is fifth to the right of B1. B4 is fifth to the right of B5. B5 is to the immediate right of B1. B8 is third to the
left of B4. B2 is third to the right of B7. B7 is an immediate neighbour of BL. Who is sitting on the immediate left of
B1?

1. B6

« 2. B7
3. B2
4. BS

Q.3

Ans

Select the option that is related to the third word in the same way as the second word is related to the first word.
Bicycle : Pedal :: Car: ?
1. Shovel
2. Door
3. Hammer
+ 4 Wheel




Q.4

Ans

|
BOH

HH

nj=h

mEm

BHH

Q.5

Ans

1.

2.

Emma
Ben
Alex
David

Q.6

Ans

- % and -

+ and +
* and +

* and +




Q.7

Ans 1. Weither conclusion I nor II follows
o 2.
3.
4.
Qs
Ans 1. 300
2. 285
3. 281
w4 278
Q.9

Ans ..0C:CP
2. AB:BM
s BM: WO

« 4 IU : DP

Q.10

Ans o 1.
2. Wife's sister
3. Daughter

4. Wite




Q1

Ans . YTB21
2. Y5721
3. YTB20
4. YSZ20
Q.12
Ans
o 1.

X

In a certain code language, ‘L AMP’ is coded as ‘IWJL’. What is the code for ‘LOGS” in that code language?
Ans 1. IKDP

Q.13

2. IIDO
3. IKEO
« 4 TKDO
Q.14
Ans 1.

w
b BA pa L

v




Q.15

Ans 1. 21

2. 25
3. 26
4 24

Q.16 Which of the following groups of letters when sequentially placed from left to right will complete the given series?
jklmnojklmnoj Imnojk m ojklmn
Ans 1 ,] klm
+ 2. klno

3. k_n_[n
4. mnol

Q.17

Ans 1. 318
2. 340
3. 290
4. 268




Q.18

Ans




Q.19

Ans

o 1.

Q.20

Ans . 8and 4
2. 2and 5

+3 3and 9

4 9and 2

Section : Part-B-General Knowledge and General awareness

@1 Which Indian musician is the first singer to get the highest civilian honour, the Bharat Ratna?
Ans 1. Zakir Hussain

2.
& 3.

4. R.D. Burman




Q.2

Ans 1.
2.
3.
4. Elam Endira Devi
Q3
Ans 1. 2.6
<2 6-14
3. 6-12
4. 4-14
Q4 What is the name of the earliest form of writing known in the Indian subcontinent?
Ans 1. Pali Script
« 2. Indus Secript
3. Brahmi Script
4. Sanskrit Script
Qs
Ans 1. Two-thirds
+ 2. One-third
3. One-fourth
4. Half
Q.6
Ans 1. Lucknow
2.
3. Agra
4. Gwalior
Q7 The IAAF World Championships in Athletics became a fully professional competition from
Ans 1. 1997
2. 1995
3. 1993

4. 1991




Q.8

Which institution was established in 2015, in the place of Planning commission of India?

Ans 1. NABARD
&2
3. RBI
4. SEBI
Q9 Barash is similar to the hindu festival Diwali, which is celebrated by which of following tribes?
Ans o 1.
2. Santhal
3. Munda
4.
Q.10
Ans 1. Football
« 2. Hockey
3. Tennis
4. Badminton
Q.1
Ans 1
2
v 3. Department for Promotion of Industry and Internal Trade
4.
Q12 is the most commonly used measure of money supply.
Ans 1. M1
2. M2
3. M4
4 M3
Q.13
Ans 11977
2. 1997
3. 1967
4. 1987
Q.14
Ans 1. Ghasidas




Q.15

Ans 1.
72
3. Leena Nair
4,
Q.16
Ans 1. 36
2. 29
« 3. 063
4. 47
Q.17
Ans 1
2.
3.
4,
Q.18

Ans 1. DDJ.F I

2. Both I and II
3. Only I
« 4. Neither I nor IT

Q.19 Which State's Chief Minister has been awarded the Bharat Ratna Dr Ambedkar Award for fear free state, in May 2023?

Ans o 1.
2.
3.
4.

Q.20

Ans

1. Population

2.

« 3. Population Census

4. Constitution

Section : Part-C-Elementary Mathematics




Q1

Ans

1. 656
2. 697
3. 738
4779

Q.2

Ans

1. Rs. 2400

2. Rs. 4800

3. Rs. 600
+ 4 Rs. 1800

Q.3

Ans

1. 8§ percent
2. 5 percent
« 3. 4 percent

4. 10 percent

Q.4

Ans

If the length of a rectangle is increased by 14.28 percent, then by how much percentage its breadth should be reduced to

keep the area same?
wan
2.

3. 14 percent

4.

Q.5

Ans

There are 44 mangoes. 121 bananas and 11 apples, they have to be arranged in several rows in such a way that every
row contains equal number of fiuits and each row contains fiuit of one type. What is the minimum mimber of rows?

1. 16
2. 15
3. 14
4. 13

Q.6

Ans

o 1. 20 vears
2. 14 years
3. 10 years

4. 15 years




Q.7

Ans 1. 120
2. 150
3. 100
« 4. 200
Q.8

Ans 1. 5800
2. 4850

3. 4300

« 4 5300

Q.9

Ans 1.

Q10 Selling price of an article is Rs. 5175 and discount of 25 percent is offered. What is the marked price of the article?
Ans 1. Rs. 6900

2. Rs. 8500

3. Rs. 6600

4. Rs. 7000

QN

Ans 1. 70 percent

« 2. 50 percent

Q.12

Ans 1. 25,000
2. 21,000

« 3. 22,000

4. 22,500




Q.13

Ans 1. 132550
2. 132500

3. 135550

4. 135500

Q.14

Ans 1. Rs. 1250
2. Rs. 1270

3. Rs. 1210

« 4 Rs. 1200

Q15 The simple interest received on a sum for 40 years is 2/5 of the sum. What is the annual rate of interest?

Ans 1. 1.5 percent
« 2. 1 percent
3. 2 percent
4. 3 percent
Q.16

Ans 1. 18:25
2.17:20
3. 16:25
4.9:10

Q.17

Ans 1. 48 km/hr
« 2. 64 kmv/hr

3. 72 km/hr

4. 56 km/hr

Q18 The ages of 7 men in a cricket team are 26, 25, 21, 29, 24, 28 and 22. What is their average age?

Ans 1. 24
2. 22

3 25

4. 23




Q.19

Ans  @1.5:1
2.1:5
. 5:4
4.5:2

Q.20

Ans 1.
2. 10 percent
3. 20 percent

4

Section : Part-D-English

Q1 Select the sentence with no spelling errors.

Ans o 1.

2.

3.

4. T had to play melody while simultanously plaving harmony with him.

Q.2
Ans 1. In seventh heaven
72
3.
4
Q3
Ans o 1.
2
3.
4. no error

Q4 Four words are given, out of which only one word is spelt correct. Choose the correct spelt word.

Ans 1. SUCCESFUL
2. RELEVENT

3. SUPRISE
« 4 WITHHOLD




Q.5

Four sentences are given, out of which three have all correct spellings. Choose the sentence with the incorrect spelt
word/ words.

Ans 1.
I slipped the ramrod down it to make sure it was loaded. then I laid it across the turnip barrel, pointing towards pap.
& 2.
But the hope in his wisdom was at length changed into dred. for no one beleived him when he said he knew no charms.
3.
4.
He said he would watch out, and if they tried to come any such game on him he knew of a place six or seven mile off to
stow me in.
Q.6
Ans 1. against
2. to
3. for
+ 4 with
Q7
Ans 1.
2.
3. No improvement
o 4.
Q.8
Ans 1. Lament
2. Hate
+ 3. Love
4. Fecund
Q.9
Ans 1. coarser
o 2. course
3. coarse

4. courser




Q.10

Ans 1. tallest
2. tall
o 3. taller
4. more taller
Q.11
Ans 1. Insecure
2. Desolation
« 3. Devitalize
4. Secure
Q.12
Ans 1. have a pet
2
3. No improvement
« 4. has a pet
Q.13
Ans 1. To experience joy or success in some endeavour, but only for a limited period of time
2
3.
4,
Q.14
Ans 1.

o 2.

3.

4.

And thereupon he sudden remembered

No error




Q15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The health agency has encourage people around the world to wash their hands regularly.

Ans 1.
2. WNo error
3.

4.

Comprehension:

SubQuestion No : 16
Q.16

Ans 71 appears
2. signs
3. pings

4. injects

Comprehension:

SubQuestion No : 17

Q.17
Ans 1. differs
2. dwindles
& 3. OCCculLs

4. tarns




Comprehension:

SubQuestion No : 18
Q.18

Ans 1. blunder
2
« 3. suffering
4. chaos

Comprehension:

SubQuestion No : 19
Q.19
Ans 1. where
+ 2. what
3. which
4. why

Comprehension:

SubQuestion No : 20
Q.20

Ans 1. time
2. system
3. platform

« 4 track

Section : Part-D-Hindi




Q1

Ans

o= @T g9 A, 91 Reeal & &, 35 BFeT F7 997 F{ 37 F6F H 8T 70 g & TcfF T &7
Ter fereT 1
AY TSI W g T ¢ FET aga W ($e) . FHIES T g

v
2. ST
3 IEH
4. 38T

Q.2

Ans

ffaf@a wea &, a7 Reed § @, 39 fBFeT &1 79w & o Reg wvw & v @ gfessr w5 arer
e &l
# # 3 ANER F FY gAS S qrelr g
v feEe
2. IMET
3. el
4 YA

Q.3

Ans

f&T 7Y a1 § IfEd vaigarE Wes B 99+ HRoh Rdd R &I gfd H1|

gdd (@R 8l
1. giTH
R G
3 fiRmge

4 [Ayd

Q.4

Ans

FafaRad areg § WEifed HRT & AU Ush T1dd Xsg J1d B IfoTg|
RG] H 81y Y ol U Hl Ui SUTs 1ol o




Q.5

Ans

FafaRad are o, 39 a1agi &I ggdn-e o el 8] afg &1 el Jel ¢ ol '®ig Jic dal o' &l g-1a

CAIELY
B I & 13y qaiaRul fEay &l $@ A S [ oy FiY 75 6l g, SR I8 fawy faRIY =4 ¥ ggiaru 4R/
ferit U a1 IR & S Td el & U i B

1. 3t Ue i IR & 1o fid o & e elar g

v 2 G Hlg Sl g, 3R U8 fawy fa=iy & 3 gaiaru i)
% BIg I T 7
4 U & 9y giaRul iGaq &1 o 7 oo [dwg &

Q.6

Ans

f&u e fasedl § 9 g ol 9Tel fadhed &1 T o1

. gg AfH 99 H1d Wl g
2. I I qoT HER I Hd DU |

v 5 Ra ¥ 9ga Al gl 8|
4. feuess IR TS Har g

Q.7

Ans

f3U 7Y are ¥ ¥@ifdhd Weg &1 fadd sq J1d HIfoU|

YR 94 8|
B P
2. Mg
3 3N

4.3‘]——%;[

Q.8

Ans

fT 7T g/eg # Y@ifehd HFT & iU Id T1de Wsg &1 999 Hifog|
A gld &l SHI 9¢ 7S 8|
1. SH

7 2 s.ﬂg
3. Hlg
4. Hgl

Q.9

Ans

F=Taf@T 2 #, 91 Tt ¥ ¥, 35 BFeT &1 997 #{ 7 g s & v @8 o= I
ereT &l
HETH T & gl 7137 g T 37 @9 o#AF & §FAT J67 &aT, 98 OF a0 gl

I HER
2 guH

VO 3R
4. FIET




M w9 A Yaifed s &1 fad Wse g1d i
TIHM &1 g2Ua - $I|

Ans

O Pofefad uy § R el 3 ¥, 39 [Goe0 &1 90 &L Ol S1¥6 ¥ 3T T Wsg, b qaigar g o 9l fabed
e |

SR DI MU T THEE ((GR) Wi &1 U 96 17 g
1, ﬁgﬁ?{

v2 IEH
3. GChR
4 TIATT

Ans

Q.12

T I & Wifeg AT & BT s ards oee 719 Fifav]

SAI3T T 39 Fga e @il ¢
1. el a3
2 T
3. 3eMreRaTieaT

4 AR

Ans

P fPufafad vy T, 9R w1 Y, SO e &1 9o S ol 3T T HRTe &7 et orf arer Rided 2
KIEEEARER)

1. HIT Gl
2 O RE IR H B
3. &H%RITGH&“W

4 THAT-GIEAT BT

Ans




M Ry e o1 ag W I o, e 1S 3 31 Ak B 7R TR, @ IS 3 T I
Traelf <reg 31 Weg & AT Y &1 & — farelm + aneff)
v e B MY
2 g1 g - faem + s
5 By AT 8
4. faeqmdt 2reg &

13 Cpfaf@d uy @, 3T 70 aR Rieel # §, 39 e & 907 &3 o AT 70 Gerak & 3 &l gdiy &0 3 @ad
E2EI

EISIKE)
Ans " s e
2. YSHMI
v HIgl Sl
4. e e

Comprehension:

7 v 71T e F Fo e o R v § R voie od we ¥ 9w e R aw € s ant A
¥ Fid @1 RFeew Read T #1 9T Fem-

siaey fagEe a5y, By 22faey 3w Sy (TATaTw) F A9 ¥ o ST 69T £, B F5 UF -

TR (1) g S 7= a Ay et T (2) ot 7 A fafeemr dweme gem war
g1 Tg T+ (3) St S FYAE, EET-SioRdT HHAUT, THaEA/TEE, guenied # & IR
¥ AIZ FAT g THTHTE H FE AgEal 9T 3% (4) FIT & &7 1999 # e aify

(5) T FFAfAa Bar e o

SubQuestion No : 16

T a1 & oy ged Suged e &1 99 Fifv|
Ans 1 gléa_qq
2. W
v 4 TE




Q.17

Ans

Q.18

Ans

Comprehension:

e R Asc s o Rr i v g e F TR Reew Rr aw &l sw s A
T Fia @ Ree R vuer & qf7 Fem-

STy e o158, o 2eg &=0 SRud (TATHTE) & 17 ¥ &ff J=T ST 8, B T UF IR-

T (1) g & = &t At St @ (2) et 7 ArwErT feeewr dwerrer e Far
g1 I8 @IaA (3) AT S AYRE, FAT-ATARN FHAUT, vaHETSE, FeEfeE @ ¥ 3R
H Acg #{dT & TATHTG H F5 FHgieadr W 3% (4) Frat & T 1999 H Ae anfa
(5) ¥ wEAaT fRam o e
SubQuestion No : 17
Rerd2 & foIT 9ed Iugad fddhed &1 994 FIfY|
" OfEy
v 2 gifad
3. IOy
4 AT

Comprehension:

e fow 71T e F Fo e o R aw # 3R v Ned T ¥ 9R e v aw §| s I A
¥ @i & Fwed Rea v #F f Fem-

Sy faer3e 959, o A=fieg & vy (TATAETE) & A7 ¥ off =T JET 8, BiE & UF -
TR (1) g S ge & A daiat ¥ (2) &aft 7 A= Rfeew dwsme ver war
¥l 78 T (3) diEt S TR, GET-afeRel G, TIaEdTEE, fERRw @ F 3R
H ASC FIT §| THUHTE H FT AIESNT 9T 345 (4) FIT & T 1999 & aee anfy
(5)___ & mrAfag far smar om

SubQuestion No : 18

Reri3 & [T ged Iugad fddhed &1 984 FifoY|
S
2. o
3 o

v 4 faftrd




Q.19

Ans

Q.20

Ans

Comprehension:

A T 710 75w # Fo weg o fRw aw ¥ it vw ed we ¥ 9w fwew Rroaw §l sw e A
T Fia @ Ree R vuer & qf7 Fem-

STy e o158, o 2eg &=0 SRud (TATHTE) & 17 ¥ &ff J=T ST 8, B T UF IR-

TTEAET (1) g S g2 & 3 SR # (2) et 7 mradr Rfcar Swee v A
g1 I8 @IaA (3) AT S AYAE, FAT-ATARN FHAUT, vaHEETSE, FeEfeE @ ¥ 3R
H A T g| THUATS F F3 Hleaml 9T 3% (4) FET F T 1999 & AR arfy
(5)_ @ mFafaa Gar smam o
SubQuestion No : 19
Rerda & foT 9 Iugad fahed &1 994 FIfY|
- §BR
v 2 {4
3. HJHG
‘ offereif

Comprehension:

A G 1w se7 A Fo o o3 G v § I g% Ned wue & an fawew fGw aw &) g A A
T i @1 Fwed Rea wae & fF Fem-

Sy fae3e a5, o Aefiew &= BRI¥ (TATAETS) & A7 ¥ o =1 ST 8, BiF &1 TF -
T (1) g S g2 & ek SR @ (2) ot H FEET Rfeem s Yo AT
¥l T FET (3) Tt S AR, SR THAvT, TadEATEE, feRiiw @ & IR
H #AcE AT ¢ THTHTUS HI F5 HAglea™l 9T 3% (4) HaT & T 1999 # Aee aifa

(5) T FFATAET BT T o)

SubQuestion No : 20

Rerds & foTT 9 Iugdad fadhed &1 994 FIfY|
S
2. ey

v 3 QDR
4. ﬁ-q






